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One who hands over or throws an object  — 2971 pP91rm VIXRT
PYD 717 "R "I is avn

OVERVIEW
The &n»72 teaches us that *X1v J2 agrees to the 7127 that P VWA from a
n°5n10 717 "1 "0 that he is 2. Our Moo analyzes this statement.
Once we found the precedent for the 1127, that n°%195 777 9"77% "0 XXM
is 2n, from 1"77 7% 777 7"70% 2" X% which was in the 1Dwn, we may
assume that °XTV 12 maintains, that somehow we cannot derive 100 777 from
*7X 777, because they are somewhat different, so even though >7¥ 777 was in
the 1Dwn, and therefore presumably 21, nevertheless 10 777 is different,
and is Mwo.! If we assume that 73 777 1o 707 are different, Mmoon asks why
U0 77 PN v should be 211, since we cannot derive it from 7% 707.
MooIN asks:
— PN VYN DTN INNN FTNINRH ON)

And if you will say; why does *X1¥ 12 admit that 100 777 P9Iy LRI is 21 -

- DVIN PN 9953 RY 333 30 29531 I ST 793 YOO TT 4995 K91 1%
Since he does not derive the case of u® 797 from the case of 7% I97
concerning carrying out, but maintains that carrying out 717 2"77% *"7n

100 1s MwY; similarly he should not derive w22y P97 either, from any other
case of w1 P71r and there should be no precedent for being Y00 777 VWM PT 21N
just as there is no precedent for being 100 777 XX 217,

N1B0IN answers:
- Yauna 7577 23 YY N M0 M) 18 791 29590 SNTY 1257 Y UM

And one can say; that according to *X1¥ 33, carrying out 977 2"77% "%

UIf 1uo 7777 and *7% 777 are identical, then, the reasoning should be, just as 7% 777 is 27 since it was in the
1own, the same should be in regards to 1°vo 777. The idea of *»7 72w5 7271 should be disproved since >7% 717
is 21. Therefore '01n assumes that *7¥ 7771 1°00 777 are not identical, and only by >7X 777 is one 217 since it
was in the 19wn. Then 1°v0 777 could be W5 (since 1V 7172 5"V "7 WD T27n). See ‘Thinking it over’ #4.
* The 127 Mix7 inserts X*¥1» in place of ayn

? See footnote #2.

* It will be necessary to assume that according to “Xrv 12 the act of 19wna X1 NIXY» was not the carrying
out from their tents, since there it went through >7¥ 777, but rather in another manner, such as 1771 o7
"1 39vn DWIp.
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7"77 97X is also M e even though as the X1 states that it occurred in the
12w, nevertheless he is Mw» -
— 07 IV ToNNT

for °X1v 72 maintains that "7 72 919, and therefore Yvo 717 is 7w, but not
because we do not derive it or compare it to >7¥ 777 , on the contrary, 7% 777 is an
adequate precedent, but there he is also W5 since 17 7AW 7707 -

— Y18 97 DIYI PN P93 PO 797 VIV P YaN
However 110 797 1"775 2777 w2y AT is 271, because we derive it from

7"79 97X 797 2" 0" WY P93, and as mentioned above that it is an adequate
precedent, only that by walking he is not 211 neither by 190 777 nor by 1"77 7% 777
because “n7 MY To0n.

SUMMARY

In conclusion 1"777 >7¥ 771 100 717 are similar in that they are both a n*9173,
and according to °X1v 313, they have the same status and 7°7. If he walks
through them 2"719% °"7n, then he is MWD because *»7 WD T20n. If however
he is v’ P77 through >7¥ 777 1"V0O 777 he is 21, since it was in the 1own,
and there is no °»7 W2 7777, since he did not walk in the n¥»n">.

THINKING IT OVER
1. What idea(s) changed by m»oin from the X°wp to the y17°n?

2. According to °K1¥ 13, is the &720 of 7 72> 7771 a primary X120, meaning
that X1V 12 maintains that it is self evident, or is it a contrived X720, meaning
a X120 that is utilized to explain certain observations?

3. moon answers that ¥"2 derives 1"W0 777 (VW) PT from 77X 777 PO
[which was in the 1own]. It seems however from the X723 later that there was
no PV in the Pwn!®

4. Mmoo assumed in his question that ¥"2 agrees that 777 1"77% > 72007
"7 >7% that he would be 2»11.° How can "2 assume that »7 73 T21n?!’

5 See X"y1 "1 and w"wA.
% See footnote # 1.
7 See anma K.
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